18. ASa=Tst 45— A RFAEHK

sazyqevs— | & E| 48 | 58 [ eA [ 7A | 8A | 9A | 10A | 1A [ 128 | 1A | 28 38 Bt
TRi28EE 1,126 983 1,061 1,267 1,040 1,626 1,226 1,298 996 1,041 1,172 2,256 15,092
X TR29EE 1,182 1,054 1,220 1,296 1,067 1,295 1,728 1,113 1,022 991 1,029 2,084 15,081
TRI0EE 1,156 1,036 1,126 1,038 930 1,432 833 985 870 844 834 1,849 12,933
TRi28EE 502 414 606 606 466 754 1,104 1,888 465 345 709 720 8,579
= X TR29EE 612 564 690 673 504 812 1,351 1,701 464 393 647 627 9,038
TRI0EE 552 564 671 704 583 564 524 2,433 417 394 520 606 8,532
TRi28EE 1,065 867 989 1012 837 1,017 1476 1,615 969 820 1,094 1,083 12,844
X = TR29FE 1,127 767 904 1,120 796 1,140 1,661 1,649 978 1,010 1,236 1,048 13,436
T RE304EE 967 593 839 972 830 1,111 1,307 1,381 632 565 812 782 10,791
TRK28EE 880 724 843 897 737 1,012 877 1,457 1,438 1,176 921 810 11,772
H O ER29FEE 1,235 971 831 1,157 825 1,495 2,179 936 990 800 822 958 13,199
FERES0FEE 871 1,371 932 978 797 1,862 992 1,783 1,240 1,378 923 1,044 14171
ER28FEE 821 709 706 912 1,016 1,133 650 617 601 570 790 683 9,208
oA FERE29FE 968 718 697 1,040 766 1,503 712 2,152 993 691 824 735 11,799
TRRI0EE 801 690 606 1,058 718 1,053 702 1,898 865 498 782 685 10,356
TR28EE 1,409 690 397 515 738 806 1,623 555 729 733 978 1,312 10,485
A=Y FERE29FE 1,097 632 909 710 674 645 1,679 1,309 1,001 548 853 462 10,519
TRRI0EE 1,194 436 875 792 946 765 1,823 1,008 861 507 1,022 696 10,925
FRK28EE 5,803 4,387 4,602 5,209 4,834 6,348 6,956 7,430 5,198 4,685 5,664 6,864 67,980
5 FERE29FE 6,221 4,706 5,251 5,996 4,632 6,890 9,310 8,860 5,448 4,433 5,411 5,914 73,072
FEREI0ERE 5,541 4,690 5,049 5,542 4,804 6,787 6,181 9,488 4,885 4,186 4893 5,662 67,708
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19. BIHELER—L

A BHREHR
265 E FERR2TEE TER28EE ER29EE ERI0EE
BR [ = [ S - EES i | 8 | % wE | B [ % - S
156 13 143 125 21 104 127 20 107 118 13 105 107 16 91
EH ATV TER
B. ARFIAEH
EE BE 45 5H 68 | 7A | 8E 98 | 108 | 11A 128 | 1B | 2R 3 | A%t
HHrELE 219 232 279 315 284 275 259 251 384 237 276 226 3237
O |- % 199 227 363 306 312 351 346 177 184 376 295 229 3,365
2% E |FL—=UPE 602 498 663 621 737 653 526 418 295 439 457 546 6,455
= 1,020 957 1,305 1,242 1,333 1,279 1,131 846 863 1,052 1,028 1,001 13,057
HHEELE 244 235 225 256 204 228 256 278 502 231 238 267 3,164
O |- % 291 261 279 328 218 265 222 273 232 242 257 234 3,102
EE |[FL—=2FF 513 695 793 644 774 796 735 615 488 445 572 533 7,603
= i 1,048 1,191 1,297 1,228 1,196 1,289 1,213 1,166 1,222 918 1,067 1,034 13,869
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